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QID : 1 - In the following question, select the related word pair from the given alternatives.

Options:

1) Sun : Heat

Q.37

2) Earth : Planet Q("?ﬁzix"

3) Land : Solid

34;3:( ks

4) Water : Drink

STeT - BT

Correct Answer: Earth : Planet §
ar: B

Candidate Answer: Sun : Heat I :
9IH

QID : 2 - In the following question, select the related word pair from the given alternatives.

Options:
1) Rectangle : Five 3Tdd :
gfg
2) Hexagon : Seven
wCHT : |
3) Rhombus : Six
HHAGIS : B
4) Triangle : Three 3:13!':
GiGS
Correct Answer: Triangle : Three 35T :
GG
Candidate Answer: Triangle : Three o7 :

GG

QID : 3 - In the following question, select the related word from the given alternatives.

Forest : Trees : : Book : ?
ATTTA  HEUIATTH TH A T U UG H F AT
a?r:q: :gzﬁ: ?

Options:
1) Pages



q

c

2) Bind

Sq

3) Writer

Erecy

4) Pen

helH

Correct Answer: Pages

) Candidate

[

Answer: Pages 3

QID : 4 - In the following question, select the related letters from the given alternatives.

TRAP : YWFU : : FROG : ?
AFTTA  HEUIATCTH TH A T & T H AT

TRAP : YWFU : : FROG : ?

Options:
1) KHLG

2) KWTL
3) WKLH
4) FGHL
Correct Answer: KWTL

Candidate Answer: KWTL

QID : 5 - In the following question, select the related letters from the given alternatives.

FAN:MZU::LIP:?
ATTGT  HSUIACTH TH Y H U HIH AT

FAN:MZU::LIP:?

Options:

1) FGA

2) KRO

3) ANP

4) TSQ

Correct Answer: KRO

Candidate Answer: KRO

QID : 6 - In the following question, select the related letters from the given alternatives.
AM:FR::1LQ:?

AATGT  HESUIC G TH J T U I TH AV

AM:FR::LQ:?

Options:
1) HQ

2) NP
3) Qv

a) LS



Correct Answer: QV

Candidate Answer: QV

QID : 7 - In the following question, select the related number from the given alternatives.
46:24::54:?

AATTA  AGUIATTH T H W 6 U § AT H F AT

46:24::54:?

Options:
1) 30

2) 24

3) 20

4) 36

Correct Answer: 20

Candidate Answer: [ NOT ANSWERED ]

QID : 8 - In the following question, select the related number from the given alternatives.
11:24::23:?

AATTA  AGUIATTH T H H 6 A § AT H F AT

11:24::23:?

Options:
1) 42

2) 36
3) 54
4) 58
Correct Answer: 36

Candidate Answer: 36

QID : 9 - In the following question, select the related number from the given alternatives.
5:15::7:?

ATIGT  HASUIATTH T H Y S Ol & ITH AT

5:15::7:?

Options:
1) 28

2) 21
3) 37

4) 25



Correct Answer: 21

Candidate Answer: 21

QID : 10 - In the following question, select the odd word pair from the given alternatives.

AATGT  HASUIATTHIAYATH A H A AT

Options:

1) Pen —
Write helH — oTdT
2) Ball -
Play TG — Wefell

3) Food -
Eat 30STeT — @I 4)

Pencil - Stationery I
T — el A1 <Y

Correct Answer: Pencil - Stationery I
T — or@ef A1 <Y
Candidate Answer: Pencil - Stationery @

el - or@el a1 <Y
QID : 11 - In the following question, select the odd word from the given alternatives.

AATGT  HEUIV dh TH Y IIH A& H AT
Options:
1) R
oad H5h
2) T
ruck &
3) C
ar
4) S
cooter &
R
[£8
Correct Answer: Road H5h

Candidate Answer: Road s

QID : 12 - In the following question, select the odd word from the given alternatives.

GIGESECS) Hatrmamcmﬁawwaaﬁgram



) Rice
didel
2) w
heat a7 &

3) M
aize A T
4) C
rop el

Correct Answer: Crop el

Candidate Answer: Crop B¥cl

QID : 13 - In the following question, select the odd letters from the given alternatives.

TTTTGT HEU T Th I H J q9H H TH AT

Options:
1) GIM

2) HKN
3) MPS
4) NQU
Correct Answer: NQU

Candidate Answer: NQU

QID : 14 - In the following question, select the odd letters from the given alternatives.

TTTTT HEUITTh I H G a9H I TH AT

Options:
1) LQVA

2) AFKQ

3) CHMR

4) MRWB

Correct Answer: AFKQ

Candidate Answer: AFKQ

QID : 15 - In the following question, select the odd letters from the given alternatives.

AT HEUIAVTH TH Y IVH JIH AT

Options:
1) VRNJ

2) cYuQ
3) KGCX

4) SOKG

Correct Answer: KGCX



Candidate Answer: KGCX

QID : 16 - In the following question, select the odd number from the given alternatives.

AATGT  AEUIATTh I H A aYH G ATH AT
Options:

1)2-12

2)5-28

3)4-24

4) 3-18

Correct Answer: 5 —28

Candidate Answer: 5 — 28

QID : 17 - In the following question, select the odd number from the given alternatives.

AATGT  AEUIATTh I H A aYH G ATH AT
Options:

1) 11-13

2) 13-17

3)17-19

4)11-15

Correct Answer: 11 -15

Candidate Answer: 11 — 15

QID : 18 - In the following question, select the odd number pair from the given alternatives.

AT HEUITTH TH Y aVH H AT G HH AT

Options:1) 4

2)5
3)6

4)9

Correct Answer: 9
Candidate Answer: 9

QID : 19 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Series
2. Singing
3. Secure
4. Sickle
5. Secured

o o Wl A S Y A SehIRl & 3o ATel H oh AR o1 |

1. Series

2. Singing

3. Secure

4. Sickle

5. Secured Options:
1) 35142

2) 53142

3) 35124

4) 53124

Correct Answer: 35142

N NN NN -



Candidate Answer: 35142

QID : 20 - Arrange the given words in the sequence in which they occur in the dictionary.

. Drive
Drown
. Drain
. Drink
. Drama

v R WNR

o o W U S Y A ST H e ATl H b HoJAR oI |

. Drive

. Drown

. Drain

. Drink

. Drama Options:

1) 35421

2) 35412

3) 35214

4) 35241

Correct Answer: 35412
Candidate Answer: 35412

s WN R

QID : 21 - Arrange the given words in the sequence in which they occur in the dictionary.
1. Price
2. Prize

3. Police
4. Paint 5. Prawn

TS o Tl A S T A SN H 3T dTel H & AR o |

1. Price

2. Prize

3. Police

4. Paint 5. Prawn ) 45123
2) 45213

3) 43521

4) 43512

Correct Answer: 43512

Candidate Answer: 43512

QID : 22 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

AG, FM, KS, PY, ?
Teh 3] H ST IRATE, SFHA A Ueh UG f T ¢ | SU AT eh T 7 A g Hel aoh T G =T,
S 37 A TR

AG, FM, KS, PY, ?

Options:
1) RM

2) UE
3)IQ

4) YA



Correct Answer: UE

Candidate Answer: UE

QID : 23 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

ALK, VGF, QBA, ?, GRQ
Teh 37e] 7 T IATE, S A Uh Ge o] I 8| STV TR T H A I FEI aoh I
AT, St 3] 7 BT R

ALK, VGF, QBA, ?, GRQ

Options:
1) KST

2) ARP
3) CXD
4) LWV
Correct Answer: LWV

Candidate Answer: LWV

QID : 24 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

KPD, QVJ, WBP, CHV, ?
T H HEATIATE, STHA A Th I J AL | SUIN AR TH AT HGI ah T Y
T, S 37 7 HT R

KPD, QVJ, WBP, CHV, ?

Options:
1) INB

2) GXF
3) ICM
4) zDQ
Correct Answer: INB

Candidate Answer: INB

QID : 25 - In the following question, select the missing number from the given alternatives.
3,7,11,63,27,215,?,?
AATGT  HEUIATITH I H Y T 3 o % ST

3,7,11, 63, 27, 215, ?, ? Options:

1) 47,513

2) 51,511

3) 51,513

4) 47,511

Correct Answer: 51, 511

Candidate Answer: [ NOT ANSWERED ]

QID : 26 - In the following question, select the missing number from the given alternatives.



18, 45,112.5, ?, 703.125
AATTA  AGUIAT TS T H A of 3 old F oTT|

18, 45, 112.5, ?, 703.125 Options:
1) 2175

2) 262.25

3) 281.25

4) 273.75

Correct Answer: 281.25

Candidate Answer: 281.25
QID : 27 - In the following question, select the missing number from the given alternatives.
30, 68, 130, 222, 350, ?

AATGT  HEUIATTh I H Y o T 37 o7 F 50|

30, 68, 130, 222, 350, ? Options:

1) 504

2) 520

3) 476

4) 448

Correct Answer: 520

Candidate Answer: [ NOT ANSWERED ]

QID : 28 - Seg CD is shorter than Seg MN, Seg MN is shorter than Seg TR, Seg AB is shorter than Seg CD and Seg MN is shorter than Seg PQ. Which segment is the shortest?
WS CD WS MN T BIET§, TS MN W3 TR A BIeT§, T3S AB TS CD A BT & 3R WS MN WS PQ A BIET & | Tad BleT T3
HlTaATE?

Options:
1) CD

2) MN
3) PQ
4) AB
Correct Answer: AB

Candidate Answer: AB

QID : 29 - Ais B's father's father's daughter-in-law's daughter. If B's father has no brother then how is A related to B?

A BFTATH I F o & T T §| 319 B & Tl 1 13 HTS 716 &, T A, B U FH cieg TS T §?

Options:

1) gr
and-daughter
CiGl

2) d
aughter 8¢
3) m
other &

4) si
sterdgel

Correct Answer: sister SlgeT

Candidate Answer: [ NOT ANSWERED ]

QID : 30 - From the given alternative words select the word which cannot be formed using the letters of the given word.



RECUPERATE
AATGATH THA TG A AT ST ST IV A S oh 37T T LT hleh 776
AT ST HehaT:

RECUPERATE
) acute
2) trace
3) price
4) erupt
Correct Answer: price

Candidate Answer: price

QID : 31 - If TUESDAY is coded as VWGUFCA, then how will COW be coded as?

T & TUESDAY T 313 H VWGUFCA TTET ST & A COW &I I8 &7 IT oIar?

Options:
1) EQY

2) XLD
3) BNV
4) DPX
Correct Answer: EQY

Candidate Answer: EQY

QID : 32 - In a certain code language, 2369 means 'master class is fun', 9527 means 'act is class apart' and 1349 means 'we have fun class'. Find the code for 'fun’.

FHar T IS ST A 2369 EFI'3-1'2T%' 'master class is fun', 9527 EFI'HH%‘ ‘act is class apart' 3R 1349 H}Tﬂ'?{ ‘we have fun class'| 'fun' & oIT &I &1 |

Options:
1) 2

2)6
3)3
4)9
Correct Answer: 3

Candidate Answer: 3

QID : 33 - In a certain code language, '+' represents '-', '-' represents 'x', 'x' represents '+' and '+' represents '+'. Find out the answer to the following question.

16-25x40+60+15=?
FHTTRSHITH '+, - RIS ATIATE, -, X PG AT RIATE, X, '+ PG AT AT 3R '+, + Frg AT AT | T
a@d FTIToTT I

16 - 25 x 40 + 60 + 15 = ? Options:
1) 14
2) 72
3) 55



4) 63
Correct Answer: 55
Candidate Answer: 55

QID:34-1f72$20=46and 1 $ 27 = 14 then find the value of 10 $ 44 =?

TE72$20=4631$27=14ar10$ 44 = ? ST AT <1 F? Options:

1) 34

2) 54

3) 27

4) 17

Correct Answer: 27
Candidate Answer: 27

QID : 35 - If AS B means Ais son of B, A # B means A is brother of B and If A * B means A is father of B, then what doesP #Q $ R * S mean?

TTASBHRIIATHA BHTIE, A#BHIFALHA, BHRTASE AR TCTA*BHRIFNATHA BHTIATE ATP #Q$ R * ST AT 37U &2 Options:
1) Pis father of S

P, SHIUATE

2) P is father's father of S

P SHAATH I &
3) Pis brother of S

PSHTHSE

4) PissonofS

PSHIE

Correct Answer: P is brother of S

PSHTASE

Candidate Answer: [ NOT ANSWERED ]

QlD:36-

Select the missing number from the given responses

fer g fresedt % & ofF ST i

Options:
1) 2

2) 11

3)1

4) 10

Correct Answer: 10

Candidate Answer: 10

QID : 37 - Which of the following terms follows the trend of the given list?



AAAAAABA, AAAAAAAB, BAAAAAAA, ABAAAAAA, AABAAAAA,
AT TG H Y BleT AT UG & T4 I 6 7 AR 82

AAAAAABA, AAAAAAAB, BAAAAAAA, ABAAAAAA, AABAAAAA,
Options:

1) AAAAAABA

2) AAABAAAA

3) AAAABAAA

4) AAAAABAA

Correct Answer: AAABAAAA

Candidate Answer: AAABAAAA

QID : 38 - A Shopping mall worker loads his trolley and walks 50 m through an alley which is going North, then he turns to his left and walks 15 m, then he turns South and walks
another 15 m, then he turns East and walks 25 m and then he turns south and walks 35 m. Where is he now with reference to his starting position?

T 93T FHief 7 T Fe dTell Teh 37T Toll 3T SR 50 HIEX 3T 3R o AT & | B Fg o1 3R Hh 15 HeX Telcll § | 3T ale Fg & U7 3R
HEH 15 T T Y, B a8 25 X q@ & AN TG WG 0T % 3R HIH 35 HIST I AT ¢ | 37 I8 30 o} Heh T T A HF AT WE?

Options:

1) 10 m West

10HRT A

2) 10 m East

10 HeXqg

3) 40 m East

40 HIeT g

4) 40 m West

40HIT H

Correct Answer: 10 m East
lo#e g

Candidate Answer: 10 m East

10 Hex q@

QID : 39 - Two battle tanks start from the same point. Tank A travels 12 km South, then turns to its left and travels 7 km. Tank B travels 7 km South, then turns West and travels 9
km, then turns to its left and travels 5 km. Where is tank A with respect to tank B?

arg I U 61 F @ o1 o3 FNA G| TH A, 12 FellAIel &
U1 3T el ¢ 31 T ST R HST 7 oAl Telcl ¢ | Toh B, 7 holleled & UToh X Folr g IR T & IR HSH 9 AT Tl g, B 311 o 3R
HSHT 5 FHellHIC TeAdT § | Th B T HTh ARG 07

) 16 km West
16 FAHAITH
2) 2 km East
2 e g
3) 2 km West
2FHe A TH
4) 16 km East
16 HeHIT g
Correct Answer: 16 km East
16 HeHIT g
Candidate Answer: 2 km East

2 Fell e qd

QID : 40 - In the question two statements are given, followed by two conclusions, | and Il. You have to consider the statements to be true even if it seems to be at variance from
commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: No cats are dogs
Statement II: Some cats are carnivores
Conclusion I: All dogs are carnivores
Conclusion II: All carnivores are dogs

H Y T S I § STTh 3T &l o7 Y | 3 11 7Tl IR § | TR ATAAT & S SleAl A T T § IR T8 TTAT I AT T T A H AT 81 § | 31T AU AT § & 6T T



AFTAYPAAYFATT T T Y FUT RT TEY TR ST Tl /TR €, T & PIS &

FUF | PS TN F 07578 § FAF I1: T S J o] AR §

amnmﬁgg:‘mﬁmﬁg
AFYN: BN AR F 3§

Options:

1) Only conclusion | follows
FIT A RY | TEl &

2) Only conclusion Il follows
FITTPY I TEE

3) Both conclusions | and Il follow

ATAFT IR ITEE

4) Neither conclusion | nor conclusion Il follows
AT AT FY | FET 8 ATET A I Il

Correct Answer: Neither conclusion | nor conclusion Il follows T AT
TAFT I T LA TR

Candidate Answer: Neither conclusion | nor conclusion Il follows =T &@f
TFTITOE AT TR

QID : 41 - In the question three statements are given, followed by three conclusions, I, Il and Ill. You have to consider the statements to be true even if it seems to be at variance
from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: No bronze is copper
Statement Il: Some alloy is bronze
Statement lll: Some zinc is alloy

Conclusion I: Some zinc is bronze
Conclusion Il: Some copper is zinc
Conclusion lll: some alloy is copper

A JT FUT A I § THH AR AT A RY |, 11 3R 11l AT I § | TIhT ATAAT § o el HAA T I ¢ AR Ig AT IA: I T T AT T EIT & | 3TIh! AV AT & & 6T T
APTHAY PT-TAYPT-AT T T Y FUT ORT TG AT ST Gl &/Th 8, TS FIS T

FUA | FENAA AT A FUA N FTUTNATE FAT N H A AT Y

AFTLF ST AT
AFTN:FoA@AAE
T F S T AT

Options:

1) Only conclusions | and Il follow
FaTTFY | RN TEE

2) Only conclusions Il and Il follow
FITT Y3 TETE

3) All conclusions I, Il and Il follow

dFTHFTL 13RI TEE

4) None of the conclusions follow e o &Y |, II 3 QT&?TH%’%
Correct Answer: None of the conclusions follow
dTART, I IR NTET TG E

Candidate Answer: None of the conclusions follow citeT &

FYL 1R NTAE AR

QiD:42-



Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

frforRae SR SMepfcr & & i &1 & T 1Y gy
3TTEIcT  Get & A I1IT Tal ST HeblT?

Options:
1

2

3
4

53
i




Correct Answer:

e

Candidate Answer:

sty

QiD:43-
Which of the following answer figure patterns
can be combined to make the question figure?
fFrferRaa ST sl & & i & wioraa) &t
Srga Y TU v aNgfey BT gaT S a1 22

Options:

1)

2)

3)

4)

Correct Answer:

Candidate Answer:

QID : 44 -




In the following figure, square represents
astronauts, triangle represents swimmers,
circle represents women and rectangle
represents Indians. Which set of letters
represents women who are either
astronauts or swimmers?

Fr=ferRaa fomr ¥ o, wegiHicy @t wefdfa eear &,
AT WRAET Y HERF PR 2I3MERT BT BI G W
AfEaTa @ vefdfa war & S ar ) Wy

& ar e #2

EFH

Options:
1) FHGI

2) DEIA

3) IBFG

4) FHI

Correct Answer: FHI

Candidate Answer: FHI
QlD:45-

Which of the following Venn diagrams represents the
relationship between Pencils, Pens and Writing
instruments ?

frfeaa & & sl a1 9= ey, 9= ik fora &t

Options:
1)

Q

D

2)



3)

4)

©

Correct Answer:

Candidate Answer:

QlD: 46 -

Which answer figure will complete the pattern in the
question figure?

fer=aferRad & & Bi-3t ITR ATHIA 04 B B AfcrRey
Y qRT B2

Options:
1)



2)

3)

4)

Correct Answer:

Candidate Answer:

QlD : 47 -



From the given answer figures, select the one in which
the question figure is hidden/embedded.

&t AT IR TP F A I JAHHeY by G T ey
3Ty ffee &1

Options:
1)

2)

3)

4)

Correct Answer:




Candidate Answer:

QID : 48 -

A piece of paper is folded and punched as
shown below in the question figures. From the
given answer figures, indicate how it will appear
when opened.

o TR ¥ Y SR BT Bl AGBR I
BT PR AT Bl & 918 I8 o IR ey St
ferarg <2

1
v
==

2)

3)

4)



N T 4

D
2PN,

Correct Answer:

N P4
D ¢
V4 A N

Candidate Answer:

N T 4
¢
N

D
4

A\

QlD:49-

If a mirror is placed on the line MN, then which
of the answer figures is the right image of the
given figure?

afe T ur b MN RGT R g7 11T Y S =Y IR
STpTRIT H I pI-3T TTpTer T SATpIeT BT HEN

="

Options:
1)

2)



3)

4)

& & K

Correct Answer:

%

Candidate Answer:

QID : 50 -



A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-I are numbered from O to 4 and
that of Matrix-I| are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example 'C' can
be represented by 31, 43 etc and "W’ can be represented by 76, 89 etc.
Similarly, you have to identify the set for the word 'SODA'’

T 9168 et (b HET-0E @RT STaT 7T &, S b faevedt & 3 fonedt 0 o
T e @ et Ry 10 - wE SraR & & @ T 9ig e E, St fs
ferg mq 2 megel & #1 3nege-1 & T 3R s Bt FeEm 0 F 4 3R 3megE-n B
59 9 81 7 el | U 3R Y yeer Sudhl dfth Al arg  woey wear gr
9T ST Geba &1 SEERUT e 1Y GBI 31, 43 312 GRT FATAT 1 Faber & orr

W' I 76, 89 NS GRT ST O Tavar 21 34t oRE W et wH N U 9o
‘SODA’ ¥ fofq Hefg e gear=F+1T 21

[ Matrix|_aTgt Matrix I|_ 3Tl
[ 0 1 2 3 4 5 6 7 8 9
0 ] G J A H 5 S Q R T X
1 8 A D B L 6 S T T v 0
2 B D A F L 7 T W W S T
3 L C G B B 8 Q R T W
4 B K 8 C B 9 Q P T S X
Options:
1) 65,85,21, 40

2) 78,87,12,03
3) 55,67,12,33
4) 98,69,22,14
Correct Answer: 78,87,12,03

Candidate Answer: 78,87,12,03

QID : 51 - By what name is the BRICS bank presently known?

T Y IAHTT H H AT F ST ST 872
Options:

1) BRICS

Development Bank & dehld

EED

2) Afro-Asia

Development Bank T :¥-T QIIT
SAIHC T

3) New Development

Bank Y STYHC T

4) No option is

correct. aﬁé’ﬁqﬁﬁ'ﬂ'{%

Correct Answer: New Development Bank 3
STIIHC T

Candidate Answer: Afro-Asia Development Bank T

<1-U QT 3TeIYHAC §h
QID : 52 - What does parallel economy mean?

AR 3T JATH ATATIT&?
Options:



1) Black Money
CIGIRSGE

2) Parallel
Business HHTICR <:TIR

3) Illegal
Economy 37T 7T § 2T
4) No option is

correct. IS I T TET g
g.

Correct Answer: Black Money <hTelT

o1
Candidate Answer: Parallel Business GHTTR
[=IIEy QID : 53 - Who implements

monetary policy in India?

R A At A T et AP FATE?
Options:

1) NITI Aayog =T o 3T=ITeT

2) RBI

URAT o9 96 3)

Ministry of Finance @ H

TR

4) Parliament TG,

Correct Answer: RBI
AR ToTd 5
Candidate Answer: RBI

AR 3519

QID : 54 - The ARDC is a branch of the NABARD. What is the full form of ARDC?

ARDC FTSITS & Ueh QATET &1 ARDC &I G T AT §? Options:

1) Agricultural Research and Development
Corporation 3 ¥ 3T HIT 3R e AaTe

2) Agriculture and River Development Cooperation
F ¥ 3R A g G

3) Agricultural Reform and Development
Cooperation ?WWWWW

4) Agricultural Refinance and Development

Corporation §wgﬂa}ﬁTawmm

Correct Answer: Agricultural Refinance and Development Corporation Y
9 9 3IR qehr AT

Candidate Answer: Agricultural Reform and Development Cooperation % §

FUR AR qara FgT

QID : 55 - Which of the following is a part of machinery that settles industrial disputes?

TT TTT F A it T AW 7 U & AT & 3 37 <Y 915 FaTe T ISR AT R?

Options:

1) Labour Court
ARIT

2) Industrial
Tribunal 33 -:::-Twugrwr
3) Work
Committee FIAHH T
4) All options
are correct. G & T
TEE.

Correct Answer: All options are correct. T8
THITLE.

Candidate Answer: All options are correct. T3

THITLTE.



QID : 56 - In which year Nagaland was created as separate state?

S TTel ATITS ST 3Tl I T & T F TATIT IAT 2AT?

Options:
1) 1961

2) 1962
3) 1963
4) 1964
Correct Answer: 1963

Candidate Answer: 1962

QID : 57 - Which one of the following is responsible for the preparation and presentation of Union Budget?

T o T 7 Y Flef o T Tl o IR 3R & 0 o FER 82



) Department of Economic Affairs 3T
U ATH o THTIT
2) Department of
Revenue ITaT d GHTT
3) Department of
Expenditure I HTIT
4) No option is
correct. Eﬁlé dsh qﬂﬁﬂ'ﬁf %
Correct Answer: Department of Economic Affairs 3T
e HATH & JHTT
Candidate Answer: [ NOT ANSWERED ]

QID : 58 - Who presided over the inaugural meeting of the Constituent Assembly of India?

R & T TYTT THT & Igoll §6eh o 37 T ol gt & 27
Options:

1) Dr Rajendra

Prasad 3T el ATG

2) Dr

Sachchidanand Sinha

ST H TG A&l

3) BR

Ambedkar & 3R

KICEC T

4) Sardar

Patel TRER geol

Correct Answer: Dr Sachchidanand Sinha 3T &
eI HET

Candidate Answer: Dr Sachchidanand Sinha 3T &
TIETAG | ET

QID : 59 - Which of the following was not adopted from the Maurya Dynasty in the emblem of Government of India?
HRA TPR & Al H A o of @ F A PieT HIT IA T 39T g ITAT AT?

Options:

1) Saty

ameva Jayate §

JAT ST

2) Bull
Eairy

3) Hors

e ENST

4) Four

Lions IR e

Correct Answer: Satyameva Jayate §
JAT ST
Candidate Answer: Bull I1&

QID : 60 - The first session of Constituent Assembly of India was held in which of the following cities?

IR & T T T FT UGl T o o of T H J F AT F 3T 2AT?

Options:

1) B
ombay EI'&!%’
2) M
adras H <TH
3) c
ulcutta helsh
T

4) D
elhi g

Correct Answer: Delhi g

Cli



Candidate Answer: Delhi ¢
Ell

QID : 61 - Which of the following is the best example of Vijaynagar Art?

T T T H Y Pl AT TTTTIR Fell T T 37 ST 3SEI0T 8?2
) Ajanta

37T

2) H

ampi'&"tﬁ

3) P
uri‘_l’ff

4) S
anchi Gy

Correct Answer: Hampi &
Y

Candidate Answer: Puri gff

QID : 62 - Taxila was capital of which among the 16 Mahajanpadas?

16 HETSTIUG 7 ¥ ¥ AoielAT d el A?

Options:
1) K
osala 3rerel
2) K
uru s

9
3) \Y
ajjig ST
4) G
andhara
YR

Correct Answer: Gandhara TR

Candidate Answer: Kuru 3

QID : 63 - Who was founder of Mughal Empire in India?

SRl H FITel AT 27 I 1 H AT il UT?
Options: 1)
Babur STs¥

2) Hum
ayun m’q\
3) Akb
ar 3{shsa¥
4) Jaha

ngiraé'll 3

Correct Answer: Babur sTeT

Candidate Answer: Babur STsI¥

QID : 64 - Where did Vasco da Gama arrive in India in 1498?

aT oY S ITMAT 1498 H R H gl 3T AT?

Options:



1) Mad

ras H TH

2) Calc
utta sheleh &

3) Calic
ut ST

4) Bom
bay §9%

Correct Answer: Calicut FTellehe
Candidate Answer: Calicut STollehe
QID : 65 - According to the treaty of Srirangapattanam, which of the following was ceded to the British?

<SIRETT UTH & & ¢ & 3eTAR, 7 o of @l 7 & il T T H T GAT IR AT?
) Mysore

RN

2) H
ampi'&"tﬁ

3) K
annur & <
4) M

alabar
EZIGICIES

Correct Answer: Malabar HATATEIR

Candidate Answer: [ NOT ANSWERED ]

QID : 66 - By what name is the Ganga known in Bangladesh?

ST TSR # I3 T ATH AT E?
Options:

1) Pa

dma g ol

2) Ga

nga 3T

3) Da

modar &TAET

4) M

eghna FEEAT

Correct Answer: Padma I
o7
Candidate Answer: Padma 9

oT

QID : 67 - Which of the following are not kharif crops?

STH A PleT AT W HHA g &2
Options:

1) Maize and
Rice # T 3R araer
2) Arhar and
Soyabean IR AR
HrreleT

3) Wheat and
Barley 3 < 3R it

4) Ragi and
Groundnut I3 31T
HIReT

LN

Correct Answer: Wheat and Barley 3t

Jaat



Candidate Answer: Maize and Rice &

&1 AR FEe
QID : 68 - How many seismic stations are required to locate the epicentre of an earthquake?

$[5 T % o T Tl S9TTa % oIU shele] 37k UY ST & 3T Fohell Bl 07
Options:

1)3

2)4

3)5

4) 6

Correct Answer: 3

Candidate Answer: 5

QID : 69 - Madhya Pradesh shares its border with how many States?

I U ol T T & ATY IYAT SIAT TS AT L2

Options:
1)5

2)4
3)6
4)3
Correct Answer: 5

Candidate Answer: 6

QID : 70 - Palghat joins which of the following states?

TeTeTe o F of @ 3 A el T T I FAATAT 872
) Goa and Maharashtra 3naT

R AgRT

2) Kerala and

Karnataka & TeT 3iR shelTeeh

3) Tamil Nadu and
Kerala & HelaTTg 31 o Lo

4) Mizoram and

Manipur HIR# 3R # oTqY

Correct Answer: Tamil Nadu and Kerala
HoleTg AR H T
Candidate Answer: [ NOT ANSWERED ]

QID : 71 - Which of the following authorities regulates NPS?

T T HA Y TTNTH FT T AIHA i FAT8?
Options: 1)

IRDA

ITEIRIT

2) PFRDA

HTOHIRET

T

3) CA
G

Frosir
a) SE
BI Il

Correct Answer: PFRDA GTTH3TRETT



Candidate Answer: SEBI 9T

QID : 72 - Which of the following is a centrally sponsored scheme to empower adolescent girls?

FUR I FHI I TqA
Options:

1) SAK
SHAM " H

2) ABL

A 3l

3) SAB

LA eIl

4) BBB

ps SaddTa

Correct Answer: SABLA Gecll

Candidate Answer: [ NOT ANSWERED ]

FA FATSAT A AT AT H ST ST TNSTeAT 87

QID : 73 - Which among the following has inscribed Kumbh Mela on the Representative List of Intangible Cultural Heritage of Humanity?

Options: 1)
WHO g
Juas 2)
UNCTAD
JuAHE

N

T

3) ADB

T Q[TS T a9
4) UNESCO Jot Y

Correct Answer: UNESCO IIET

Fr

Candidate Answer: UNESCO IE-T

&

o o G H Y el AT o 3Tl i P eh AT oh o o7 € G H & 87 Fol T AT Hel HATE?

QID : 74 - Who has been appointed as the General Manager of Board of Control for Cricket in India?

AR H & < &S 3iTh & ool als & HgT 1 & I H ol oG HaT AT 82

Options:
1) MV Sridhar
THAT e

2) Saba Karim Hd&T
FIH

3) Rahul JohriITel

Shedr

4) Anurag Thakur
AT BTh T
S 2



Correct Answer: Saba Karim €T
FH

Candidate Answer: MV Sridhar T#dT
W

QID : 75 - FIFA World Cup 2022 will be held in which country?

O BT Y 2022 FH T 7 37T S HAT SATTIT?
Options: 1)
Russia &

2) S
pain LC

3) U
krain q’\\ﬁ
4) Q
atar shc¥

Correct Answer: Qatar S

Candidate Answer: Spain 9eT

QID : 76 - "The Idea of Justice" is written by .

g 3TS 3T 3% ST " SRT A TS B
Options:

1) Ravindra

Singh¥d &g

2) Mamta

Banerjee #HAAT

R

3) Amartya

Sen T I TA

4) Abhinav

Bindra 31 Held o <:T

Correct Answer: Amartya Sen 31H
T

Candidate Answer: Amartya Sen 31H
TaT

QID : 77 - Which author has been made Companion of Honour on December 12, 2017?

T 12, 2017 T &l G/ Wehl I & T FATeT 31T 3T AT AT E?

Options:

1) J.K.
Rowling 1. &. I
ofdT

2) Roald
Dahl 3T S 31T

3) Charlot
te Bronte ATA € T
T

4) Jane
Austen ST 31T &oT
Correct Answer: J. K. Rowling o

&, AT
Candidate Answer: [ NOT ANSWERED ]



QID : 78 - 31%¢ Surajkund International Crafts Mela has begun at which of the following city?

31-81 YIS S HeRT <G A T Al o o o Tl H A i AT H A 37 A

Options:

1) Farida
bad HETETE

2) Jaipur
N

3) New

DelhisT$ & oY

4) Jaisal
mer SIESTHT

Correct Answer: Faridabad BRIGIETG

Candidate Answer: Faridabad HIGIETG
QID : 79 - ONGC Videsh has got a two
year extension to explore which
country's Oil block-128 in the south
China sea?

INUANAT AP S OT =T PR H HY &2 F el dleh-128 F THAAY & oTT &1 I T AR FAT&?

Options:

1) Camb
odia & & 34T

2) Vietna
m aIdATH

3) Taiwa

n drgdiel

4) Philip

pines Folrdr @

Correct Answer: Vietnam dddedTH

Candidate Answer: Philippines TolrdY
T

QID : 80 -The 5t India-Sri Lanka joint training exercise "Mitra Shakti 2017" was held in which state of India?

safsmr-r--::‘:-)?»ma'gr FTNTT T 2017 HRA & HH I T 7 37TAT ST HAT IAT AT?

Options:

1) New
Delhi AE g o

2) Tamil
Nadu d Helelg
3) Mah
arashtra AgRT
4) West
Bengal9 #H
AT

Correct Answer: Maharashtra #gRT

Candidate Answer: Tamil Nadu &@
Helollg

9
QID:81-BIOSisa .
I. non-volatile firmware

Il. Volatile firmware
111, Software stored on a small memory chip on motherboard

BIOS T |



1. IR @I FHIR

Il. I3 BHITT

1Il. FEISS W TH BT WY AART I9 TR T <3 HT I §OT
Options: 1)

Only |

FIeT|

2) Only Il

Fadll

3) Only I and Il F

del | ATl

4) Only lland I
Cilicrdll]

Correct Answer: Only | and Il F
del | aAT il
Candidate Answer: [ NOT ANSWERED ]

QID : 82 - Which of the following is TRUE?

AATTT A A RTTTTTE?

Options:

1) Primary memory is non-
volatile. T2 Feh HART IR-T @A
RG]

2) Secondary memory is

volatile. T AANY TGN gl &1

3) ROM is non-volatile

memory. UHF AT @ gl &

4) RAM is non-volatile
memory. ¥ IR-T GTAT gl &

Correct Answer: ROM is non-volatile memory. A
RS ECh ORI G

Candidate Answer: RAM is non-volatile memory.i'ﬂ'

I @I EdEl  QID: 83 - Which of the

following metal remains in liquid form at room
temperature?

AATGAA A HAMUTHATR ~ THBAG?

Options:

1) Ca
dmium &3
HIHA

2) Me
rcury 9RT

3) Ge
rmanium ST
TJIH

4) Tin
Col

Correct Answer: Mercury 9RT

Candidate Answer: Mercury YRT

QID : 84 - Aqua regia is a mixture of

A TS (T AT 5 FIHUTEIATS



Options:

1) dilute hydrocloric acid and concentrated nitric
acid. T 815 <1 ol Th 31 of AUT A o415 h 3T o

2) dilute sulfuric acid and dilute hydrocloric
acidic. o] & g Teh 37 o cTT 1] TS T il Toh 3T

3) concentrated sulfuric acid and dilute nitric
acid. |1 F T 31 of AT o] TS & 3ol

4) concentrated hydrocloric acid and
concentrated nitric acid. AT &8 <1 T Io 37 of TAT AT ATS
FIA

Correct Answer: concentrated hydrocloric acid and concentrated nitric acid. HTET's’
AT HATTAAASH A A

Candidate Answer: concentrated sulfuric acid and dilute nitric acid. FITFI'E[\

T T qUT AT ATS & 3T ol

QID : 85 - In a concave mirror if object is placed at centre of curvature, then image will be

TH ITAA U H TSI H T TH WRIGIE, Arsarareraas g

Options:
1) virtua
| 3T
2) erect

e
3) dimin
ished BIeT

4) at the
centre of

curvature I I &

FRAT

Correct Answer: at the centre of curvature d'd
FHR R AT

Candidate Answer: virtual 3T

QID : 86 - What is the mass of 4 mole of aluminium atoms?

TIAAIH S GAT] % 4 Hel AT 182
Options:

1) 120 grams

120 <TH

2) 108 grams

108 TH

3) 136 grams

136 <TH

4) 140 grams

140 <TH

Correct Answer: 108 grams
108 <TH

Candidate Answer: 108 grams
108 <TH

QID : 87 - Which of the following particles were made to fall on a thin gold foil by Ernest Rutherford?
TTTTTH Y 377 T IEIDIS o isT Y FOT R 1ot & T <X I AT 2AT?

Options:

1) G
amma JMAT
2) B
eta sfier

3) E

lectron Sof



o

e

4) A

Ipha 31 &1

Correct Answer: Alpha 3T
BT

Candidate Answer: Alpha 3T

o)
QID : 88 - Which of the following statement(s) is/are TRUE?

I. Fuse is generally placed in series with the device.
Il. Fuse is generally placed in parallel with the device.
11l. Fuse wire has high melting point.

AT TTT T Y FIT AT/A FAT T I E/E?

I TS HAATTS: G & G ool 7 7 F ST A &

Il TR FHATTT: G FHAL T HH T ST A

3
111, T TR T Ieeich 3 A BT g |
Options: 1)

OnIyIﬂ?

del |

2) Only I

Fadll

3) Only land Il &
el | ATl

4) Only lland 11
Ceille ]l

Correct Answer: Only | Ea
det |

Candidate Answer: Only | &
del |

QID : 89 - A rectangular coil of copper wire is rotating in a magnetic field. The direction of the induced current changes once in each?
Al & R & Ueh IAATHR & Sell hell Iaeh T3 H YOI T TN ¢ | S G Sl H 2 T T 5 YRToh &G H ekl TILHOT & T < il 82
Options:
1) Two
revolutions a’rq\trm

2) One
revolution Ueh gUTeT

3) Half
revolution 31TEIT Tl

4) One
fourth revolution Teh

=TS ot

Correct Answer: Half revolution 3TT8IT
Tt
Candidate Answer: [ NOT ANSWERED ]

QID : 90 - Noise is measured in which unit?



MY Y & ShIS H AT ST &?

Options:

1) W
att @ie

2) F
araday HE
3) P
ascal 9T shel
4) D
ecibel

ENIEC)

Correct Answer: Decibel S&Terel

Candidate Answer: Decibel SHTeel

QID : 91 - Which of the following vitamin helps in clotting of blood?

AT TTT T A PIA ATIST AT & & &l 7 TETIAT FATE?



) Vitamin A deT

HT A

2) Vita
min B dCT HeT B
3) Vita
min D dcT HeT D
4) Vita
min K dcT Hel K

Correct Answer: Vitamin K dcT

Hel K
Candidate Answer: Vitamin K
del Hol K

QID : 92 - During heavy exercise, breathing rate in an average adult person can increase upto per minute.
37 ¢ CTATH el & S, Sl AT aT F & FA & J Hele doh 93 Fehal 2

Options:

1) 15

2) 20

3) 25

4) 30

Correct Answer: 25

Candidate Answer: [ NOT ANSWERED ]

QID : 93 - Why is the colour of human blood red?

ARIT HTET AT TEATE?

Options:

1) Because of
myoglobin AT &IT §T o HROT
2) Because of

haemoglobin %FITHTEHQ?

Eary)

3) Because of

immunoglobin 33@@'3??

Eary)

4) Because of

heptoglobin ?ZTF!TEH?

Eary)

Correct Answer: Because of haemoglobin E1HT Il
T & HROT

Candidate Answer: Because of haemoglobin ?I'#I’Fﬂ'
e & HROT

QID : 94 - Which of the following statement is INCORRECT?

AT TTGT F Y i TTHYT T AT &7

Options:

1) Oviparous animal does not give birth to
young ones. 3 STeh Sic] deh HcT M2 1 5T H =18 &l |
2) Each sperm is a single cell. A% I
<2T0] Uehy Uehol o1 QIhT & |

3) External fertilisation takes place in frog.
AHAT AVTAGITE |

4) Fertilisation is necessary even in asexual

reproduction. 37T 3Teh STeTeT H 3 T8 3T TH &1

Correct Answer: Fertilisation is necessary even in asexual reproduction. 3TeT 3Tsh
AT 7 37 A T TR |

Candidate Answer: Fertilisation is necessary even in asexual reproduction. 37ef 9Tsh
Sietet 7 37t AT 3T TH B |

QID : 95 - What is the cause of arise of myopia?



APC GV 3 TE H ATHRITE?

Options:

1) Excessive curvature of the eye lens. ¥ A & T
T AT 37 €1 eTT|

2) Eye ball becomes too small. = 3Nl T BleT
R

3) Focal length of the eye lens becomes too long.
37 3T & BIhE J 3 U gl

4) Lack of sleep.

TG H HATI

Correct Answer: Excessive curvature of the eye lens. 31 B
% T o &1 37 & glel|
Candidate Answer: Focal length of the eye lens becomes too long. 31 ooy

% HIhd T 37 € 81=1T| QID : 96 - Which of the following multiplies very
slowly in comparison to others?

A o Tl 7Y el T Jofall 7 F o R 0] F AT 2
Options: 1)
Bacteria
2

2) \Y
irus dYTOT

9
3) F
ungi shdeh
4) w
orms ?f?T
Correct Answer: Worms E‘!_?
H
Candidate Answer: Worms &%

Hq

QID : 97 - The accumulation of non-degradable chemicals progressively at each trophic level is called
JF G FATR R A A I T THIA HT I Fgarar gl
Options:
1) biological
magnification Faw g hI0T
2) chemical
magnification THIT ok § Y07
3) residue
magnification HHQTWE’CER'UT

4) No option is

correct. S I T TET A &1

Correct Answer: biological magnification S
geh d HI0T

Candidate Answer: residue magnification BWQWE[
0T

QID : 98 - Why Taj Mahal is suffering from "Marble Cancer"?

ATSTHE T "TIFRFR FE T T A 5T 82

Options:

1) Because of sulphur
dioxide T T STS3HT TS 3 HROT
2) Because of nitrogen
dioxide TS <1STeT STS31T ASS &
Eary)

3) Because of
chloroflurocarbon eIRT SlRTeRTeA &
Eary)

4) Because of carbon

dioxide hIelsT STS3T HISE & HNUT



Correct Answer: Because of sulphur dioxide &
B SIS 3T ATSS & HROT
Candidate Answer: Because of sulphur dioxide &

R 31S3HT ATS3 & HROT

QID : 99 - Cancer treatment is done by which of the following noble gas?

FHER AT 3YTR o o of T A H HloT TY 37 F IF RT HAT SATAT &2

Options:

1) H
elium ?f
oIH

2) R
adon &1

3) Kr
ypton T

4) N
eon 37T

Correct Answer: Radon 38TeT

Candidate Answer: Radon {8Te

QID : 100 - How many types of ecological pyramids are present in ecosystem?
9T U dh o H helal R & ITT I dh WRTHAS gl 872
)TwoaT

2) T
hreedieT

3) F
our X

4) F
ive UTer

Correct Answer: Three cilel

Candidate Answer: Two &l

QID : 101 - Which one of the following brick is suitable for the high-class brick masonry?

Haamzﬁﬁaﬁﬂmw3a-ﬁ-vﬁ$zm$m3ﬂg &

Options: 1) Bull
nose bricks gﬂ'm

[

2) Jhumb
bricks SATH (H ) T
3) Modular

bricks #T GeRT

4) Under
burnt bricks & STel
<

Correct Answer: Modular bricks #T
GeRT

Candidate Answer: Modular bricks AT
GeRT

QID : 102 - Which of the following is the correct reason for soaking the brick in water before its use?

TT TTT H Y i T T A 3Geh YA A TGl YTl 7 HINNeT AT T hRUTE?



Options:

1) For preventing adsorption of moisture
from mortar by bricks TORTE of  AHT AT
HIGAT ket & T

2) For reducing air void HT{’WEI'#W
et & T 3) For reducing efflorescence 3P oleT
FH P AT

4) For cleaning

HIH T & o

Correct Answer: For preventing adsorption of moisture from mortar by bricks € <:RT
G Y A T G bt o oI
Candidate Answer: For preventing adsorption of moisture from mortar by bricks € <:RT

T F G A T GAT Ushed F AT

QID : 103 - Which of the following compound affects the ultimate strength of cement?

AAATPT TN TF DACF RA LA H AT IT AT ?

Options: 1) Dicalcium

silicate 3T & A T

qHT

2) Tetracalcium alumino-ferrite & T3 QWB-]T:I;H#I’—‘}TTI???
3) Tricalcium aluminate

v:::-]é' & A 3-1?:{ AT

4) Tricalcium silicate

S HAIHT AR T

Correct Answer: Dicalcium silicate ST &

AT TRT
Candidate Answer: Tricalcium aluminate

<I§ & UAH 37 FAAC

QID : 104 - Refractory bricks are generally used to resist

TITIHARN T T A & T HAT ST |



) chemical action IETT

A& AT
2) dampness
AT

3) high
temperature 3T
GISEIC)

4) weatherin
g action 9 I AT

Correct Answer: high temperature 3
T ATIHTT
Candidate Answer: high temperature 3

I A9 HTeT

QID : 105 - Which of the following is the correct percentage of maximum moisture content based in sand where change in volume is maximum?
AT TG H Y PieT AT H U 37 UhclH THT T TET A/ &, STaT 3T 7 T Idcle 37 hcl# gl &7
Options:
1) 5%
2) 9%
3) 12%
4) 15%
Correct Answer: 5%
Candidate Answer: 5%

QID : 106 - Which one of the following cement is best for the marine works?

AAAARIA AAAC ] FAHATCHT HE?

Options:

1) Blast furnace slag cement dT
I1-87 SI1aT HiHAS

2) High alumina cement

3T T Y HATHAC

3) Low heat Portland cement &
IH GiceTs HAC

4) Rapid hardening cement e &
GEIE

Correct Answer: Blast furnace slag cement aT IT-

& e HHT

Candidate Answer: Blast furnace slag cement aT IT-

& ofTaT HHAT

QID : 107 - Which of the following is limit of the moisture content that can be achieved in the air drying process of timber?

o H A il A AT AT <7 o AT § STHeRT oTehgl o a1g) ATOT & I H 7 o HT S Hehell ¢

Options:

1) 10%

2) 15%

3) 20%

4) 28%

Correct Answer: 15%
Candidate Answer: 10%

QID : 108 - Which of the following proportion of cement and standard sand is used in cement mortar while testing the compressive and tensile strength of cement?

e AN AT I o o T HIAC T of H LT HaT ST &, STl o  HNSeT A o el clrehed T Tl OT Tl §2

Options:
1) 1:2

2) 1:3



3) 1:4
4) 1:6
Correct Answer: 1:3

Candidate Answer: 1:2

QID : 109 - Which of the following is the important factor that affects the shrinkage of cement concrete?
o H W FRlol-T g TYUT HReh & S HIHAC i T o TP 3oT Y 7 I AT 82

) Quantity of cement AT
o AT T
2) Size of coarse aggregates T TF HI ITHR
3) Size of the fine aggregate
Y H {H =T T 3ATHR
4) Amount of water added during mixing of concrete
AN FATRENAH TR H AT
Correct Answer: Amount of water added during mixing of concrete 13T & &
T & &1 J J UTei & AT T
Candidate Answer: Size of the fine aggregate § H
HH T T 3THR

QID : 110 - Calculate the proportion (in percentage) of fine aggregate in combined aggregate so that the fineness modulus of the combined aggregate becomes 6.4. The fineness
modulus of coarse aggregate and fine aggregate in the concrete mix is 7.6 and 2.8 respectively.

g T T A G H G T & 3 (AT ) F
ACEAT I ATHHY T TI H YA AU 6.4 AW | H THUIH WU 3R G H GH UG o G A AIH A7 7.6 AR 2.8 81
Options:
1) 20
2) 33.33
3) 35
4) 66.6

Correct Answer: 33.33

Candidate Answer: 33.33

QID : 111 - Which of the following unit is used for estimation of D.P.C. work?

5 T Y H SHIS T AT D.P.C. I o 3Tehole] o oI HAT SATAT &2

Options:

1) Numbe
r g3

2) Cubic
meter €T HeX

3) Runnin
g meter T A9 HeX
4) Square
meter 3T HIeX

Correct Answer: Square meter ddT

Candidate Answer: Square meter ddT

#Hrex



QID : 112 - Calculate the quantity of the sand required (in cubic meter) in 20 cubic meters of reinforced cement concrete (1: 2 : 4).
(1:2:4) TAT AT H T F 20 T HIEI H 37T Jeh I & AT T (T HeI H) & I0AT |

Options:
1) 2.87

2) 4.4

3) 5.7

4) 8.8

Correct Answer: 8.8

Candidate Answer: [ NOT ANSWERED ]

QID : 113 - Deduction at cross wall for total length of the central line is
& TG & F o 1S & AT 0T & aR R FHl gl

Options:
1) half of thickness of wall.

& 9N & HICTS T 3TeT
2) no deduction. aﬁéaz‘r?\’ra'é’r

3) thickness of wall

T IR & Al

4) twice of the thickness of wall
& AR & AT &1 1] of

Correct Answer: thickness of wall &

IR F AT Candidate
Answer: thickness of wall § dR &
Arers

QID : 114 - Calculate the quantity of the earth works in cubic meter for a canal embankment of 100 m long having cross section areas at the two sections are 20 square meters and
80 square meters. Use trapezoidal method.

100 FIE T T +TGY & oIT GETS F IUTHAT ©eT HICT 3 X STHERT 372 1T & el & W1 3 20 FoT Hex N 80 T2 31X § | Folel AHR T & 7 AT HT |

Options:

1) 2000

2) 5000

3) 7000

4) 10000

Correct Answer: 5000

Candidate Answer: [ NOT ANSWERED ]

QID : 115 - Accuracy in measurement of the area should be

2 & AT A TT el AT ATET|

Options:

1) 1 square centimeter

199 He Hiex

2) 10 square centimeter
10 g7 e HieX

3) 100 square centimeter
100 T HT HX

4) 1 square meter

19T A

Correct Answer: 100 square centimeter
100 T HE HIeX



Candidate Answer: [ NOT ANSWERED ]

QID : 116 - For estimation of painted area of corrugated asbestos cement sheets, percentage increase in area above the painted area is
ATHER THS &8 HIAC e & T & 3Tehole & T, Tl & & FOR & Hald g gl

Options:

1) 10%

2) 14%

3) 20%

4) 25%

Correct Answer: 20%
Candidate Answer: 20%

QID : 117 - Which of the following is the purpose of the valuation?

T A Y et AT T F Alehed H13 3 T §?

Options:
1) Approximate estimation of
cost eITITc shl Qj" 3-17:1,'3:!1?

2) Analysis of rate &3 ST @ $§OT

3) Detailed estimation of cost

ST T T T 3e]HTeT

4) Taxation shY-aT-IROT

Correct Answer: Taxation sh-

STYROT

Candidate Answer: Analysis of rate g¥

FI T SYOT

QID : 118 - An electric generator is installed in the building at a cost of Rs. 50,000. Calculate the annual sinking fund (Rs.) required to be deposited to accumulate the whole
amount of 5% compound interest. Assume the life of the electric generator as 10 years.

$19+1 H 50,000 T o ATl H Ueh SoTell 1 T o AT TT HATIATE | 5% T
TSt 9T Y I 7 STAT et & T AT b AT Ve 0T QM o &7 (92) & IUTAT Y | HAT o Ffell T of o1 T SiideTehlel 10 TY G|

Options:
1) 1535

2) 30695

3) 3975

4) 79503

Correct Answer: 3975

Candidate Answer: [ NOT ANSWERED ]



QID : 119 - No deduction is made for opening in estimation of masonry work up to

TATS & HTH & IHeTHT H Gelel & oIV IS Helcll 7 & TS 5
Options:
1) 1 square centimeter
1997 e Hiex
2) 10 square centimeter
10 9T HE HIeX
3) 100 square centimeter
100 9T HE #HieX
4) 1000 square centimeter
1000 &9 HE HeX
Correct Answer: 1000 square centimeter
1000 9T HT HIET
Candidate Answer: [ NOT ANSWERED ]

QID : 120 - Calculate the weight (kg) per meter length of 25 mm diameter steel bar place at a spacing of 250 mm center by center for 1 meter.
25 HHT <1 3 YT IR & o FHIC SIaTS & JoteT (Fheit) 3 IT0TAT IR ST o Teh HIEX oh oT o <R 250 HHT F & TR I@T TR

Options:
1) 0.96

2) 3.85

3) 7.7

4) 15.43

Correct Answer: 15.43

Candidate Answer: [ NOT ANSWERED ]

QID : 121 - Which one is the upper limit of survey area (square kilometer) for use of plane survey?

Tl T UT & 3UANT & T G U7 & (G9T shellHey) & 98 DAThlT AT E?

Options:
1) 250

2) 300
3) 350
4) 450
Correct Answer: 250

Candidate Answer: 250

QID : 122 - Which one is the smallest scale?

Pl T A BIT ATISR 82

Options:
1) 1:100

2) 1:500

3) 1:1,000



4) 1:2,500
Correct Answer: 1 : 2,500

Candidate Answer: 1 : 2,500

QID : 123 - A line of true length 398 m when measured by a chain of 20 m chain is recorded to be 400 m. What is the actual length of the chain (in m)?

TET TS 398 HETHF TH T ST 20 HIEX SToIR & Teh SToiR T ATT INIT Y 38k o 91S 400 FeX &7 3 318 § | SOl & a1 o o oles (FeT 7) ATE?

Options:
1) 19.9

2) 20.1

3) 20.4

4) 215

Correct Answer: 19.9

Candidate Answer: [ NOT ANSWERED ]

QID : 124 - Calculate the correction for temperature for a tape of length ‘L, if the increase in temperature is ‘T’ above the standard temperature. The coefficient of the temperature
for tape material is ‘a’.

TS L' T & ATTHIT & oIT GUR & VAT I, IR ATTHIA H J AloToh ATGAT J ‘T SR & | & F1A <Y T ATTATT 1] 733 A’ B
Options:

1) aT/L

2) -aT/L

3) +aTL

4) -aTL

Correct Answer: +aTL

Candidate Answer: - aT/ L

QID : 125 - What is the correct sequence of the temporary adjustment of level?

T 3 37 AT WATAIS 1 6T Fe A ATG?
Options:

1) Centering, leveling and setting
F FIOT, FATAA 3R FATIISTT
2) Leveling, setting and centering

FHIAA, THAASH IR & FIOT

3) Setting, centering and leveling
AT, & 0T 3R FHATAA
4) Setting, leveling and centering

AT, T IR & FIOT

Correct Answer: Setting, centering and leveling FATAG,
Ed o7 AR FHATA

Candidate Answer: Setting, leveling and centering TATASA,
AT IR F Cou

QID : 126 - The values of whole circle bearing vary from

R G ST 6 HA HSGANE |

Options:
1)

0°to 90°



2)
0°to 180°

3)
0°to 270°

4)
0° to 360°

Correct Answer:
0° to 360°
Candidate Answer:

0° to 360°
QID : 127 - Which of the following statement is correct for proper adjustment of the theodolite?

SIS & 3 T TATIISTA o oTU o o H Y hied AT HAA T 67

Options:

1) Axis of plate level is perpendicular to the horizontal axis
AT, S TANFeigad g

2) Line of collimation is perpendicular to the horizontal
axis TETTRET, & T 37 & ol9ad ¢

3) Line of collimation is parallel to the vertical axis
HETAET, 3 aTER 37 o TAAK &

4) Line of collimation is perpendicular to the vertical axis
FYRAT, 3 TER 3 & daad &

Correct Answer: Line of collimation is perpendicular to the horizontal axis TEeRT, &
GEKEACECON

Candidate Answer: [ NOT ANSWERED ]

QID : 128 - Which of the followings are correct for sensitivity of the bubble tube?
T T T HAGALNIAT & oI o o of Tl 7 U PioT TG 67

Options:

1) Sensitivity decreases with increase in internal radius of the tube
GEHINATHAIAG o AT HAcTelleldl HH g STl &

2) Sensitivity decreases with increase in diameter of the tube.
GEHOHAY AT HAGTATeTd HH 8 STl &

3) Sensitivity increases with decrease in length of the tube.

4 % SISTS F FHT & WY TFAeAMNeIdT 9 ST &

4) Sensitivity increases with decrease in viscosity of the liquid. ATel 9T & AT dT H FHY F TTY FAGAMNAT G ST ?’ Correct Answer: Sensitivity increases with
decrease in viscosity of the liquid.

T UETY & ATAdT 7 FHHY o AT HagaTMeldT 9 STl &
Candidate Answer: Sensitivity decreases with increase in internal radius of the tube

ERFATHATAG AT HAGTAoIT 3 g1 AT &

QID : 129 - Calculate the curvature correction (in m) if distance between the instrument and staff is 500 m.

G (e #) o IT0TAT 3T TR 3TH0T 3R 20 & afrer 6 8 500 FeX |
Options:

1) 0.0196

2) - 0.0196

3) 0.0028

4) —0.0028

Correct Answer: —0.0196

Candidate Answer: [ NOT ANSWERED ]

QID : 130 - Calculate the volume of the earthwork (in cubic meter) using trapezoidal method if the cross section areas of the three section of embankment at an interval of 20 m
are 40 square meters, 50 square meters and 80 square meters.



Wwauwmﬂwqaéa?mmr(aﬂmam & IUTAT T, 39 20 HeX
3TERTeT R 3] T FIE & el WS & IR deaele  Wef 40 FaT HIeX, 50 a7 FHex 317 80 9T HIeT 8

Options:

1) 1067

2) 1700

3) 2200

4) 3200

Correct Answer: 2200

Candidate Answer: [ NOT ANSWERED ]

QID:131-The soil transported by the gravitational forces.
p! TRYOT el RT H T IaTE-T 8T & |
Options:
1) alluvial
soil STeltg 7
2) colluvial
soil FTell a7
3) loess
A AT A
4) till
<ol

Correct Answer: colluvial soil Tel

H
Candidate Answer: [ NOT ANSWERED ]

QID : 132 - Which of the following is determined with the help of pycnometer?

T T H Y DleT A F TETIAT T AT I BT g?

Options:

1) Dry density and specific gravity B:@I’ﬂﬂ'a’é)ﬂ?a’ QI"{’I'ET
2) Void ratio and dry density

T AR Y HaTT

3) Water content and specific gravity STeT @1 <Y kT QT'{[H
4) Water content and void ratio

STet 1A <Y AR T 31l

Correct Answer: Water content and specific gravity STel
A N3IRT qqT

Candidate Answer: Water content and specific gravity STel
A AR T AT

QID : 133 - The cell pressure and pore water pressure is increased from 0.1 N/sq. m to 0.26 N/sg. m and 0.07 N/sq. m to 0.15 N/sq. m respectively in the triaxial test. The
Skempton’s pore pressure parameter is given by .

[T &1 3R ST T 2 FT ST 0.1 Tl / FIT HEI T 0. 26 TeT / FIT H1eX 317 0.07 ToT / FIT FEX & 0.15Te / FaT

FHreT 7ALr: 3AT TP 9 UT Fe IATE | I & STeA T & T gard I AT

CRIGQUATT g |
Options:
1) -3
2)-0.5
3) 0.5
4) 2
Correct Answer: 0.5
Candidate Answer: -0.5

QID : 134 - Which one of the following shows time factor (approximate), for 50% degree of consolidation?

A H A Il A1 50% 5 T HAheT & oh olT Teh HY 19 o (3TTHT oIl T STl &2

Options:
1) 0.2



2) 0.5

3)1

4) 2

Correct Answer: 0.2
Candidate Answer: 0.5

QID : 135 - Which one of the following is true about ideal fluid?

T 7Y PleT AT USH G T o IR 7 TLT 8?2

Options:

1) It is compressible.

TEHG AT E

2) It is incompressible.

Ig IF T L

3) It has high shear force.
SHASTFRAT T &

4) It has high value of viscosity. WB"HW%
Correct Answer: It is incompressible. TJg
IFTIE

Candidate Answer: It is incompressible. IJg
IEH AT

QID : 136 - The diameter of droplet is 0.075 mm. What is the intensity of the pressure (N/sq. cm) developed in the droplet by surface tension of 0.000075 N/mm?
BIT §g T <[F 0.075 A 1 0.000075 UsT/ THUH & Helg dol1d ¥ BIC g H T A GaTd (Ul / 97 QoY) & oIl AT 82

Options:

1) 0.4

2) 0.6

3) 0.8

4) 1

Correct Answer: 0.4
Candidate Answer: 1

QID : 137 - A rectangular block of dimensions 2 m x 1 m x 1 m is floating in the water with immersing depth of 0.5 m. What is the weight of block (kN) if unit weight of water is 10
kN/cubic meter.

T ITAATHR Flieh o AT 2 7 x 1 #7 x 1 F1eT §, FHM 0.5 FITT It & 36T J9T 31T IS 6 AT Tleit 7 oX T & | e &7 qoted AT § (el IeT) 3R Mot 7 F AT Totet 10
Fell JgoT / bl A g |

Options:

1)5

2) 10

3) 15

4) 20

Correct Answer: 10

Candidate Answer: [ NOT ANSWERED ]

QID : 138 - On which principle equation of continuity is based?

AT T FHIHIOT HE H T I AT I 87
Options:

1) Conservation of

energy 3aiT ol T T

2) Conservation of

mass HTeT T T o7

3) Conservation of

momentum 3T o 3T T OT

4) All option are
correct THT TH T LT E

Correct Answer: Conservation of mass Hlel
FITI 0T



Candidate Answer: Conservation of mass HleT
FTETOT

QID : 139 - If Reynolds numbers are 1000,000, then what is the approximate value of friction for the smooth pipe?

& X1 8 1T 1000,000 § A Tehall TS & o ETOT T 3FTHT Tl AT ATE?
Options:

1)01

2) 0.01

3) 0.001

4) 0.0001

Correct Answer: 0.01
Candidate Answer: [ NOT ANSWERED ]

QID : 140 - Which one of the following is correct for impulse turbine?

T 7 PleT AT Ueh AT CIATSA & T TG 82

Options:

1) Always operates in submerged condition

EHRIT STAH o gTold H ToIdT &

2) Converts pressure head into velocity with the help of vanes

T o1 & AGE U Gad 85 PN P A TG ST &

3) Operates by initial complete conversion to kinetic energy I T Foll & T R SFF‘?I;UTWUT@WWE d ?
4) Operates by initial complete conversion to potential energy

4 T Frofl o oIV R 37eh YOT ITci0T § HT o §lell &

Correct Answer: Operates by initial complete conversion to kinetic energy
3T o1 Frll & AT < ek GOT Gie 0T & HT o g1l &

Candidate Answer: Operates by initial complete conversion to kinetic energy
31 ST Fo1T & oIT & 87 0T TTeiR0T & Tl o1t T &

QID : 141 - When the water drawn from the central hole made in wash hand basin, the type of flow of water is

TG UTeAT §T 41T 3 & Hel o & T DG U AhTel STl §, TTsiT 3 aTg o R |

Options: 1)
forced vortex &
HHAR

2) free

vortex 33" HR

3) tangential
flow TT dTE
4) transition

al flow § o d a8

Correct Answer: free vortex ¥
Ha

Candidate Answer: free vortex aq

HR

QID : 142 - Which of the following turbine is suitable to generate the power of 10,000 hp, working at the speed of 500 rpm under a head of 81 mATTY
leT H TS 10,000 TN F A FTFA FATCITY ¢, 81 T & Ueh 88 & w1l 500 HNHTH o 37 T § T F 82

Options:

1) Propeller

TﬁﬂT

2) Francis

oo §F

3) Kaplan

hYelleT

4) Pelton



Tefee
Correct Answer: Francis
Candidate Answer: [ NOT ANSWERED ]

QID : 143 - Calculate the specific energy (m-kg/kg) of the flow if the velocity of flow is 2.22 m/s and depth of flow is 1 m.

& T8 1 397 2.22 FeY / Yeh 5 & 3R a18 & 1618 1 HIeX & AT T U F91T o I0TAT (TH & T / & o) T

Options:
1) 1.25
2) 2.22
3) 3.22
4) 4.22

Correct Answer: 1.25
Candidate Answer: 3.22

QID : 144 - The sphere of diameter 0.02 m is falls in the fluid of kinematic viscosity 10 stokes with the terminal velocity of 0.02 m/s. What is the value of coefficient of drag on the
falling sphere?

0.02 HIET TH o IMelT H 0.02 H / TH & T Helol 42T & ATY T cfeh AT 10 ST H h T H IR STl & | IR INeAT I W ek o 310 <215 T AT AT 82
Options:

1) 40

2) 60

3) 80

4) 100

Correct Answer: 60

Candidate Answer: [ NOT ANSWERED ]

QID : 145 - As one moves from head of the canal to the field, the duty of the water .

e & €3 W A HETel e Ueh 1T & T A 4T HH arex gl
Options:
1) decreases

e

2) either increases or
decreases IT AT &l AT
gcdr

3) increases dedrl

4) remains constant Teh HTeT

Correct Answer: increases SGdl
Candidate Answer: [ NOT ANSWERED ]

QID : 146 - Which of the following is the correct assumption of the Kennedy’s theory?

ATATRITeH AT T & TeT RO 872
Options:

1) Shape of regime channel is semicircular.

IFHA ITA TSR 3T AT G|

2) Silt is in suspension due to buoyancy force.

3 1G] el & HROT, YW1 S oAelded AT g |

3) Silt is in suspension due to eddy formed from bottom of channel. WEWWW?}'W@FT?TWT, WTEHWHE d %l
4) Silt is in suspension due to eddy formed from wetted perimeter of channel.

Aol F I T T U §loY & HRUT, TWT & Toided H BT g |

Correct Answer: Silt is in suspension due to eddy formed from bottom of channel.
A7 & Tdg W HAT 3 T 8ot & HRUT, 1T S Telda H g |

Candidate Answer: [ NOT ANSWERED ]

QID : 147 - What is the value of the lateral coefficient of the friction as per the IRC?



FTSIHRET 5 3T ETOT & IT 30T <7< T AT AT §?
Options:

1) 0.007

2) 0.013)0.15

4)0.3

Correct Answer: 0.15

Candidate Answer: 0.15

QID : 148 - Calculate the safe stopping sight distance (in m) for the descending gradient of 3% for a design speed of 80 km/h. Take coefficient of friction as 0.35 and total reaction
time as 2 seconds.

80 FHN/E T & Ueh SMSol h AT A oh ofT 3% h HRET A h AUFL AUk Y (HICT H) & IUTAT T | TTOT & 7] « -::E-a;wmo.ssaﬂtgar d  qrgE"2
Y S AT A

Options:

1) 110.82

2) 123.26

3) 1018.41

4) 1092

Correct Answer: 123.26

Candidate Answer: [ NOT ANSWERED ]

QID : 149 - Which of the following is the minimum limit (ppm) of the dissolved oxygen that must be in the water for survival of aquatic life?
AT AT H Y Dot W a9 T 3T HeTeT & FeTeaat WAT (Nfwa) § S STl it & 37 o d & o T STel A gletl a1 gu?
Options:
1)1
2) 4
3) 10
4) 40
Correct Answer: 4
Candidate Answer: 4



QID : 150 - A stream has flow of 20 cumecs and BOD concentration of 10 mg/I receives the industrial waste water having flow of 1.5 cumecs and BOD concentration
of 250 mg/I. What is the BOD concentration (mg/I) of stream at downstream point of meeting of stream with industrial waste?

TS 4IRT T ITE 20 JH T TS & 3T 10
FE oI / e & fY3EY T T 3 A 31t <Y 37 S T Il 1.5 I & aTg 31 250 A 137 / Tet 3 13N Tt a1 &hF o1 F T g1 31 < 37k e & | ORT o HAelet &
36T TG § T €T o SN ThT al (Y <137 / ofiex ) A2
Options:
1) 2.67
2) 12.09
3) 13
4) 26.74

Correct Answer: 26.74
Candidate Answer: [ NOT ANSWERED ]

QID : 151 - A riveted joint may experience

T W4T F T 5113 1 $HH 317379 81 Tl &
Options:

1) shear failure

SHelel aohetdl

2) shear failure of plates

oI & FHeRell THerdT

3) bearing failure S {7 dh eIl

4) All option are correct HSfI’aEFWFI?I'E"
Correct Answer: All option are correct T
JHEITEE

Candidate Answer: All option are correct I3t

THITNE

QID : 152 - If p and d are pitch and gross diameter of rivets, the efficiency (n) of the riveted joint is given by

3R p 3R d 77 3R Iq¢H T Tohel <1 &, AT T A TSNS & & T (n) Sl Hdh SRT&IT ST &
Options:

1) n=p/(p-d )

2) n=p/(p+d)

3) n=(p-d)/p

4) n = (p+d)/p

Correct Answer: n= (p-d)/p

Candidate Answer: [ NOT ANSWERED ]

QID : 153 - If the moment of inertia of a section about its axis is | and its effective sectional area is A, its radius of gyration r about the axis is
3R SH G & IR A Ueh TS o 3oT AT 0T | B 3R 38k A7l 317omeliar & A g, A 37 3 SR # R0 o AT r grafy

Options:
1) r=I/A

2) r=V(I/A)
3) r=v(A/l)

4) None of theseSH T HIS g

Correct Answer: r = V(I/A)

Candidate Answer: r = V(I/A)

QID : 154 - Allowable working stress corresponding to the slenderness ratio of double angles placed back to back and connected to one side of a gusset plate is reduced to

AT SHIHBTS TeTd ST ETER IUT & G o AT AT h 3] T, Th U Ueh T S & T 3R Uoh IR 1T § Teh 1 A S0 § & il 9 3 HIAT e ©1E ST &
Options:
1) 50%
2) 60%



3) 70%

4) 80%

Correct Answer: 80%

Candidate Answer: [ NOT ANSWERED ]

QID : 155 - According to I.S. : 800 — 1871, lacing bars resist transverse shear equal to

HTETH : 800 - 1871% IHTAR, of HaT Hell IULT o] & Fckell T e TR FATE |

Options:

1) 1.0 % of the
axial load 37 < X &7
1.0%

2) 2.0 % of the

axial load 37 < TR &7 2.0
%

3) 2.5 % of the
axial load 37 <N AR &7 2.5
%

4) 3.0 % of the
axial load 37 <1 R M 3.0
%

Correct Answer: 2.5 % of the axial load 3T
AR HT2.5 %

Candidate Answer: 2.5 % of the axial load 3T
ST AR HT2.5 %

QID : 156 - Pick up the correct statement from the following

T A Y TE FUF a0

Options:

1) Loaded columns are supported on column bases
IS T 37T GH, TH HTUR W ATTITEITE

2) Column bases transmit the column load to the
concrete foundation el & IMUR TH AT A AT AT R

AT RAE

3) Column load is spread over a large area on
concrete THHRF TWTH TS & HtFFiT?IHT?'
4) All option are correct FSﬂ'aEFWFﬁE'
Correct Answer: All option are correct Y
THITLE

Candidate Answer: All option are correct Tt
CERRINS

QID : 157 - In the composition of good bricks, the total content of silt and clay, by weight, should not be less than:-
T HATUAT & T, TME AR A TG of GAST, AR A, A ofg glaA AT 6V |
Options:
1) 20%
2) 30%
3) 50%
4) 75%
Correct Answer: 50%
Candidate Answer: 20%

QID : 158 - In factory buildings, the horizontal beams spanning between the wall columns supporting a wall covering are called

FRAT F AR H, T § IR & d 37 I TERT &e ATel & AR AH & I B of & T 1 T gl ATl &

Options:

1) st
ringers ST&
2) tr

immers H#H



3) gi
rts ICH

4) li
ntels TEH

Correct Answer: girts IIcH

Candidate Answer: girts 3Icd

QID : 159 - The average shear stress (in kg/ cmz) for rolled beam section, is

3 1 AT & oI T 3NHS Herlell TelTa (. o /AH?) A gharg
Options:

1) 845

2) 945

3) 1025

4) 1500

Correct Answer: 945

Candidate Answer: [ NOT ANSWERED ]

QID : 160 - Web crippling generally occurs at the point where

I I 9T AIR R 39 § WEIAT§ @
Options:

1) bending moment is maximum
el 1 UT 3 R A §

2) shearing force is minimum

M T Fel GeAaA g

3) concentrated loads act FIAS FTAITH
4) deflection is maximum & <907 37 &hdd &
Correct Answer: concentrated loads act & @
CIEER TR

Candidate Answer: concentrated loads act v &
CIERR G

QID : 161 - The strength and quality of concrete, depends upon:

T o clTehel AR AT0] T T, S TR A A &
Options:
1) grading of aggregates H?i[?l'q'
F T
2) surface area of aggregates
TH I A > Fel
3) shape of aggregates
HH T I 3THR
4) All option are correct T3
CERR NS
Correct Answer: All option are correct THT
THITEE
Candidate Answer: All option are correct THT
THITEE

QID : 162 - The process of adding water to lime to convert it into a hydrated lime is termed as:-

Yol 7 I T AAR GHES REGAA I AT AR I Fgollc g |
Options: 1)

watering

qre 3T

2) b

aking & ST



3) h
ydration

1S 90T

4) s

laking o

T

Correct Answer: slaking o

il

Candidate Answer: hydration 815

A

ORTeT

QID : 163 - If aggregates completely pass through a sieve of size 75 mm and are retained on a sieve of size 60 mm, the aggregates will be known as elongated aggregate if its length
is not less than

IR G TG U G W 75 HAY & 3R & Sofalt § 319 T8 3R 60 HHY TR & Sefell I AT TN SATATE Al T I 1 of oY T el & T H AT ST, T & 30 o TS
TN HHAAGEIA &

Options:
1) 81.5 mm

2) 91.5 mm

3) 101.5 mm

4) 121.5 mm

Correct Answer: 121.5 mm

Candidate Answer: [ NOT ANSWERED ]

QID : 164 - The calcination of pure lime result in:-

Y ol & o Ul (% HelleT) T 9 IO -

Options: 1) quick
limed

T/ 3T T

2) hydraulic lime

T3 <Y ofeh &l

3) hydrated lime

815 3 TS AT

4) fat lime ﬁ??.'ﬂ(\?—ﬂ Correct Answer: quick lime HH/WH@T
Candidate Answer: hydrated lime &%

A

QID : 165 - Pick up the correct statement from the following

T H Y T FUA geTd

Options:

1) An increase in water content must be accompanied by an increase in
cement content SIT A T HY  HHACHH THG FATA AT ATET
2) Angular and rough aggregates reduce the workability of the concrete
oM IR AR T T, 5 T & PSS Fl HH A E

3) Large size aggregates increase the workability due to lesser surface area
T TR o < el o HRUT T3 TR o TH TF HIHbIS H G AT
4) All option are correct mfrwcraﬁrg

Correct Answer: All option are correct THT

THITEE

Candidate Answer: All option are correct F3T

THITEE

QID : 166 - According to I.S. 456, the number of grades of standard concrete mixes are



HTSTH : 456, % FTAR O (& C)HAHISHHATE
Options:

1)3

2)5

3)6

4) 7

Correct Answer: 7

Candidate Answer: 6

QID : 167 - Curing a concrete for long period ensures better

S FHY e oh IC & TN el A Tg BleAl SR ciieh & G oAl Gl

Options:
1) volume
stability #HT T QAT

2) strength

3) water
resistance STl dlY

4) All option

are correct F3fT g T

e

Correct Answer: All option are correct THT
THITLE

Candidate Answer: All option are correct T
CERR NS

QID : 168 - The main object of compaction of concrete is

# THENSAPMTISTIGATE S

Options:

1) to eliminate air holes EHTWE#

g H A & AT 2) to achieve

maximum density 3T ehdHA Tl T

ST & & T

3) to provide intimate contact between the concrete and embedded materials % T 3R T IS AH < & ST IR GUF &l el
FAT

4) All option are correct

EEICEA R

Correct Answer: All option are correct THT

THEITEE

Candidate Answer: All option are correct Tt

THITE

QID : 169 - Construction joints are provided

Options:

1) where B.M and S.F are small
8T BM 3R SFBITE

2) where the member is supported
by other member STgT ¢ T T TG I <RT
FHAAE

3) at 18 m apart in huge structures
AT TFAT % 3Telrar 18 HIeX &
T

4) All option are correct GHT & T
TEE

Correct Answer: All option are correct THT

THITNE



Candidate Answer: All option are correct Tt
THIENE

QID : 170 - Pick up the correct statement from the following

A A Y TG HYA I

Options:

1) Construction joints are necessarily planned for their locations sIHTOT
S5 Y 3eTch ATl & oTT ST IR W RIR FAT AT 2)
Expansion joints are provided to accommodate thermal expansion dHT d

TR Y GART ST A & T T TR SIS &l HAT ST &

3) Construction joints are provided to control shrinkage cracks
TP 51 dTel IR T o1 T T oh T AHTOT S8 39 &
AT &

4) All option are correct FSﬂ'a?FqH%TF

Correct Answer: All option are correct THT

THIHGE

Candidate Answer: All option are correct T3t

CERR NS

QID : 171 - Grading of sand causes great variation in

YT F O ST SHA T T TSN H T HT HRUTTAAT &
Options: 1) workability of
concrete & T 3 IS

2) strength of
concrete & € & dlehd
3) durability of
concrete T HT AT T
4) All option are
correctmﬂ'aﬁ?qﬂﬁg

Correct Answer: All option are correct THT

THITEE
Candidate Answer: [ NOT ANSWERED ]

QID : 172 - The light weight aggregates are obtained from

FH TS HH TA G o o T AT &

Options:

1) sedimentary

rocks TS T <1

2) metamorphic

rocks HETHR teh T <TeT

3) igneous rocks $

CipE k)

4) volcanic source

Correct Answer: volcanic source a'lﬂ'ﬂi@
or g

Candidate Answer: volcanic source ma@'@’r
\IF[

QID : 173 - The bulk density of aggregates depends upon its

T T T U T T IR A FATY



) shape 3T

2) grading
3) compaction He=TeT
4) All option are correct T8
THIENE
Correct Answer: All option are correct THT
JHITEE
Candidate Answer: [ NOT ANSWERED ]

QID : 174 - Batching error means inaccuracy in the quantity of

& T 3 T I AT § SHb AT 0T H 3
Options:

1) aggre

gates H’Ji'ﬂ'&'

2)

nt HHT
3)

r 9Tt

4)

option are
correct T8 T
THEE

Correct Answer: All option are correct THT

THEITNE
Candidate Answer: All option are correct I3t

THITEE

ceme
wate

All

QID : 175 - The center needle of the attachment of the Vicat plunger projects the circular cutting edge by

T TS & ol 1 & s S ORT J < FTTS Tl 1 AT §
Options:
1) 0.2 mm

2) 0.5 mm

3) 1mm

4) 5 mm

Correct Answer: 0.5 mm

Candidate Answer: 0.5 mm

QID : 176 - The flakiness index of aggregates is the percentage by weight of particles in it whose thickness is less than
T T H1 S AAT GAHieh 38 HUT & doleT I Il §, STefeh ACTS

Options:

1) 2/5th of mean length

A weTS F 2/5

2) 3/5th of mean length

3iEd wETS 7 3/5th

3) 4/5th of mean length

staa e Fra/5

4) None of these sﬂﬁﬂaﬂéﬂg

Correct Answer: 3/5th of mean length siaa

oIETS ST 3/5th

Candidate Answer: 4/5th of mean length g

oIeTS F 4/5

. THAEI



QID : 177 - The field test for the quality of cement consists in putting a small quantity of cement in a bucket containing water. A good quality cement will:
HHC H 0] T3 oI 'S T H Ulell & Ueh §T T H HHC & NS AT T STefaAT 37 1T & | Toh 37 S a10] F T Tl HeAC:

Options:

1) immediately dissolve in the water

QX At 3 G A &

2) float on the water surface

ITeiT % Hlg W e

3) sink to the bottom of the bucket

SCH AT HZI A &

4) produce the steam T &T 3 UTeT AT &

Correct Answer: float on the water surface UTell &

WWFWCW Candidate Answer: float

on the water surface UTeil & Hdg W olc

QID : 178 - For the repair of roads

TSH & A AT & T

Options:

1) low-heat cement is used & ITH HFAC HT 3

AT AT GTIFIT%'Z) rapid-hardening cement is

used ST & H T glet aTell HIHAC T S ATl

AT AT

3) high-alumina cement is used 3IT-3A

Y HAT HIHE FHT 3UANT HAT ST & 4)
sulphate-resisting cement is used The-

T TT FT 3 FATT HAT AT &

Correct Answer: rapid-hardening cement is used BEIE:]
T8 arel HHC 1S JHTT FAT AT

Candidate Answer: rapid-hardening cement is used il &

T8 arel HHC 1S JHTT FAT AT

QID : 179 - The advantage of reinforced concrete, is due to

FAdSH T H o1 THH PRUTEIAT S

Options:

1) monolithic character 371@s T T

2) fire-resisting and durability 3T e 3R
AT T

3) economy because of less maintenance
cost HH ITETT AT o HROT 7Y

qar

4) All option are correct

N IR T TR E

Correct Answer: All option are correct THT

CERRINS

Candidate Answer: All option are correct TT

THITEE

QID : 180 - By over-reinforcing a beam, the moment of resistance can be increased not more than
T 1 T FSTI T I, AR T 07T S ATET 76 &1 Tl §

Options:

1) 10%

2) 15%

3) 20%

4) 25%

Correct Answer: 25%
Candidate Answer: 20%

QID : 181 - Spacing of stirrups in a rectangular beam, is



& AR S F &E & X9, Tgarar g

Options:

1) kept constant throughout the
length T TS H W @A §

2) decreased towards the center of

the beam §IH & & F I FFATE

3) increased at the ends BR W
TR
4) increased at the center of the

beam SHFFH dedr %

Correct Answer: increased at the center of the beam ST &
FHIGA &

Candidate Answer: decreased towards the center of the beam &1 &

FFH IR FHABATE

QID : 182 - The radius of a bar bend to form a hook should not be less than

Teh & FATo! o T Ueh IR Sl FAlSe] & ol ST IT 5H I ha gleil AT gT
) twice the diameter

T T T

2) thrice the diameter

a:amasr;h?mg of

3) four times the diameter

O Sl AR Tl'ﬂ' of

4) five times the diameter

m’a?r':na'ﬂ?i ol

Correct Answer: twice the diameter

ST Rl ITeAT

Candidate Answer: [ NOT ANSWERED ]

QID : 183 - Steel bars are generally connected together to get greater length than the standard length by providing
3 U & el 31 37T ik I T WA SSH HIoTeh TS o Jolell 7 37 el SielTs o1 of o7 T F ST 81l &

Options:

1) straight bar

splice HTel T arsd

2) hooked

splice S ellgH

3) dowel

splice gﬁﬂm

4) All option

are correct T IR T

wE

Correct Answer: All option are correct THT

THITLE
Candidate Answer: All option are correct TT

THITNE

QID : 184 - The diameter of longitudinal bars of a column should never be less than

T o 371 I AT oh T 1 SHY e el 71g gl ATgT

Options:
1) 6 mm

2) 8 mm

3) 10 mm

4) 12 mm

Correct Answer: 12 mm

Candidate Answer: [ NOT ANSWERED ]



QID : 185 - The maximum ratio of span to depth of a slab simply supported and spanning in two directions is
AT T 37 eIl ITUTCl o o TGRS A S o o Il & ST 7 FH I AR B el g, ag &
Options:
1) 25
2) 30
3) 35
4) 40
Correct Answer: 35
Candidate Answer: 35

QID : 186 - For a continuous slab supported at ends and carried over intermediate beams

AR T & oIT S & BR R IH Id g1 3R A Jad S W o Sar gy
Options:
%)/10
1) Max. sagging B.M. for the end spans = + (WIHW@'WT
BM 3T 4T F AT = + (wl?) / 10

2)/10
2) Max. hogging B.M. over penultimate supports is equal to -

(w137 ETheTaT 8T 19T Y. UH. 3R THYA & 3| - (wl?) / 10

FIERE
3) Max. sagging B.M. for the interior spans = + (wlz)/12
I U Y T BM ST TR AT H = + (wi?) / 12
4) All option are correct mfraa:tm'é‘rg
Correct Answer: All option are correct T
THEITNE

Candidate Answer: All option are correct T3t
THITEE



QID : 187 - The advantage of a concrete pile over a timber pile is

& 3(UTSeT) IR Ueh 31 &Y 1 Ig 9T 2laT &
Options:

1) no decay due to termites

T HAF & FRUTPIS T A5

2) no restriction on length

RIS R IS T 78

3) higher bearing capacity 3 T 38 HAT

4) All option are correct g IR I T §
Correct Answer: All option are correct THT

JHITEE
Candidate Answer: All option are correct Tt

THITEE

QID : 188 - A raft foundation is provided if its area exceeds the plan area of the building by.

ST T &1 T ST & T & 3HHT < Tel, AR F 4T ol & Bl A 5TH F UFH alar g
Options:

1) 10%

2) 20%

3) 30%

4) 50%

Correct Answer: 50%

Candidate Answer: [ NOT ANSWERED ]

QID : 189 - The forces in the members of simple trusses may be analysed by

AURUTAF ST ATARIT  OVUTSHY FIT ST AFAT

Options:

1) graphical method
Ricreie iy

2) method of joints
AEHTY

3) method of
sections 3-1?-ar311?T haYg

4) All option are
correct mframcm%’rg

Correct Answer: All option are correct Y
THITLE
Candidate Answer: All option are correct T3

THITNE

QID : 190 - A rolled steel joist is simply supported at its end and carries a uniformly distributed load which causes a maximum deflection of 10 mm and slope at the ends of 0.002
radian. The length of the joist will be

T U3 T o 515 T I 5Th OR W TERT ST & 3R Teh TATH T F I IT HR T & STHP HROT 10 HAT T 37 Yohcd AT T 29 3R 0.002 Y 3TA F BR W EAA I g | NS TH
ECIEC

Options:

1) 10m

2)12m

3) 14m

4) 16m

Correct Answer: 16 m

Candidate Answer: [ NOT ANSWERED ]



QID : 191 - A lift of weight W is lifted by a rope with an acceleration f. If the area of cross-section of the rope is A, the stress in the rope is

ToTeT W o Teh of € Ueh T T o AT Teh GROT f 3 AT ISTAT ST ¢ | 39 T WY o <1G-3 QT T 3 el A §, Y T Y T =11d 819

Options:

1) W (1+f/g)/A

2) (1-g/f)/A

3) W (2+f/g)/A

4) W (2+g/f)/A

Correct Answer: W (1+f/g)/A
Candidate Answer: [ NOT ANSWERED ]

QID : 192 - A material which obeys Hooke’s law is subjected to direct stress c0. At its elastic limit, which of the following statements is true?

AT <Y S & o FTIH T ITeled AT ¢, T WY TATT 00 & 37T 1T & | 31T SoIT <o AT I, o7 oF 7 A T AT H2eT TG &2
) Strain is equal to c0/E AT

00 /ERRERE
2) Maximum shear stress = 60/ 2
37 YhdH el defld = 00 / 2

3) Strain energy = (60%/2E) x volume
AT 3311 = (002 / 2E) x AT T

4) All option are correct T g T

wE

Correct Answer: All option are correct T

THITEE
Candidate Answer: All option are correct T3

THITNE

QID : 193 - Keeping the depth d constant, the width of a cantilever of length | of uniform strength loaded with a uniformly distributed load w varies from zero at the free end and

TGS d T HAT WA & oI, | T IS FHC AR FHABE N FFASTATAT AN W H A AT FH S TG LIV AN EH SR WINZER
Options:

2) * |2 at the fixed end
1) (2w/od

(2w/od?) * P d3dA

2) (3w/od?) * 12 at the fixed end

(Bw/od?) * P d3dA

3) (3w/ad) * I? at the fixed end

(Bw/od) * PF T 3aA

4) (5w/ad) * I? at the fixed end

(sw/od) * 2e  T3aA

Correct Answer: (3w/ad) * I at the fixed end
(Bw/od) * 2T T3AA

Candidate Answer: (3w/od2) * 12 at the fixed end

(Bw/od?) *Pd  dIdH

QID:194 -



The force in EC of the truss shown in the figure
below is

;ﬂﬁﬁmwwﬁ,mmﬁﬁmﬁ%ﬁwaﬂ

5t

Options:
1) zero [T
2) 5t tension

S5t delld

3) 5t compression

st ST

4) 4t tension

4t eIt

Correct Answer: 5t compression
5t @IS

Candidate Answer: zero [

I QID:195 -

In the cable shown in the figure below, the minimum
tension occurs at

Fa fEu e o # feame e Sra@ . =gAaH o91E fee iR g 8

Options:
1) A

2)B
3)C

4) Between A and C
AR CcHIT

Correct Answer: C

Candidate Answer: Between A and C

AR CcFNT

QID : 196 - A shaft is subjected to a bending moment M and a torque T simultaneously. The ratio of the maximum bending stress to maximum shear stress developed in the shaft is

Te T T 371 T M 3R Ueh €Tk T OX Uk A1 37efleT | 21T H ek A 37 Ukl heilell cfolld & ofT 37 Tehcld S[hId clelld o IHefdlel &



Options:

1) M/T

2) /M

3) 2M/T

4) 2T/M

Correct Answer: 2M/T
Candidate Answer: 2T/M

QID : 197 - The shape factor of standard rolled beam section varies from

HTeTeh S[GehT SITH F$TAT T TR R FEA H BT &

Options:
1) 1.10to 1.20
1.1081.20

2) 1.20 to 1.30
1.2081.30

3) 1.30 to 1.40
1.30 ¥ 1.40

4) 1.40 to 1.50
1.40 § 1.50

Correct Answer: 1.10 to 1.20
1.10§1.20

Candidate Answer: 1.10 to 1.20
1.1091.20

QID : 198 - In plastic analysis, the shape factor for a triangular section is

THT J9UT 7, IO WS & T TR T HRP &
Options:

1) 1.5

2) 1.34

3) 2.34

4) 25

Correct Answer: 2.34

Candidate Answer: 2.34

QID : 199 - Shear center of a half circular section of radius r and of constant thickness, lies at a distance of x from the center, where x is

r % 37 T g JTeT3TTIT T SRkl o 3R 7R HIETS &, F W x
)r/m

2) 2r/nt

3) 3r/nt

4) 4r/nt

Correct Answer: 4r/mt

Candidate Answer: 3r/mt

QID : 200 - A three-hinged arch is generally hinged at its supports and

T clleT-goT aTelT 31T AR W 38 TR W 3R T W g HATEIAT &
Options:

1) at one

quarter span Ush

s s e E



2) at the
crown {HTT

3) anywhere
in the rib T& 7 &g &
4) None of

these 378 A IS 7Tg

Correct Answer: anywhere in the rib I&
HAFHg &Y

Candidate Answer: anywhere in the rib {&

AFg &Y



